1072t

a(d cot(B))

9 J..UCJ_I L : [
IS r ] r
o [ : B
=1t CT T T T e e e e T e
098321 0 1 2 3 098332 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__originalREDO100
—e— DQM_TT__originalREDO100f
—— DQM_TT__originalREDO100fb3
£ £
S i
~ ~
S S
o o
107t
o102k HMEUE L LI L o100 P R L
g b1k g b =
[ad [ ¥ [ad [ X
1-1-1-1F o 4=--ee- 3 P A
095327 1 0 1 2 3 0983 —=3" -1 0 1 2 3

TP n (PCA to beamline)

2372 -1 0 1 2 3
TP n (PCA to beamline)

TP n (PCA to beamline)



	Contents
	Page 1


